PE MINH HOA HAI PHONG - TEST 6

I. Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part is

pronounced differently from that of the others in each group.

1. A. bilingual B. flexible C. variety D. satellite

2. A. expects B. involves C. enjoys D. hurries

Il. Mark the letter A, B, C, or D on your answer sheet to indicate the word whose main stress position

is placed differently from that of the others in each group.

3. A. journey B. paddy C. entrance D. exchange

4. A. invention B. teenager C. convenient D. develop

lll. Mark the letter A, B, C, or D on your answer sheet to indicate the word OPPOSITE in meaning to the

underlined word.

5. The loss of her pet had left her feeling deeply depressed for weeks.



A. confused B. interested C. delighted D. worried

6. Despite coming from different cultures, they discovered many similarities in their values and beliefs.

A. differences B. difficulties C. advantages D. disadvantages

IV. Mark the letter A, B, C, or D on your answer sheet to indicate the word CLOSEST in meaning to the

underlined word.

7. The company aims to establish itself as a leader in sustainable technology.

A. take over B. bring out C. puton D. set up

8. One of the drawbacks of living with someone is having to share a bathroom.

A. benefits B. advantages C. disadvantages D. conditions

V. Mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that

completes each of the sentences.

9. The environmental impact of our actions today will affect future



A. groups B. teams C. generations D. bands

10. The artist skillfully a lifelike sculpture out of a single block of marble.

A. embroidered B. carved C. molded D. knitted

11. The museum showcased a collection of ancient artifacts, some of origins were still a
mystery.

A. which B. who C. that D. whose

12. She has an personality that makes her easy to approach and talk to.

A. attractively B. attraction C. attract D. attractive

13. After the storm , the sky cleared up and the sun came out.

A. have passed B. had passed C. passing D. was passing

14. She's currently a new job in her field of expertise.



A. looking at B. looking up C. looking after D. looking for

15. Jazz music is her , and she often attends live performances.

A. cup of tea B. hot potato C. flesh and blood D. piece of cake

16. Whether we finish on time will depend how efficiently we work together.
A.in B. up C.on D. of

17. studying diligently, she didn't perform as well as she had hoped on the exam.
A. Despite B. Because C. Even though D. Because of

18. She is learning how the guitar to fulfill her musical aspirations.

A. played B. play C. playing D. to play

19. - Linda: "Would you like to come with US for lunch?” - Jolie: " "



A. Never mind. B. Yes, I'd love to C. Congratulations D. Yes, | do

20.; - John: "Do you find it interesting to travel alone?" - Matt: "

A. Never mind B. You're welcome C. No, not at all D. What a pity!

VI. Mark the letter A, B, C, or D on your answer sheet to indicate the part that is incorrect in each of

the sentences.

21. Not only the Earth but also some other planets moves around the Sun.

A. Not only B. moves C. around D. the

22. The library where | studied for my exams in was always quiet and peaceful.

A. where B. for C. was D. quite

VII. Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the

correct word/phrase that completes each blank.



Travel and tourism provide services of all types for both inbound and outbound travellers, and
have become one of the world's fastest (23) industries. International travel and tourism
are the world's largest export earner and (24) important factor in the balance of
payments of most nations. The market is increasingly diverse, covering not only traditional tourism and
business trips but also many new (25) of travel that have developed in recent years.
Tourism has become one of the world's most important sources of (26) . It covers a wide
range of jobs, including all branches of the travel industry, hospitality in hotels and restaurants,
entertainment and recreation, as well as the tourist attractions in a particular region. Areas of work (27)

Tour Operators, Travel Agencies, Tourist Boards and Tourist Information Centres,

Transport Companies, Tour Guides, Tourist Attractions.

(http://langschool.eu/textbook/advanced-en/unit0é.en.html)

23. A. grow B. growing C. grown D. growth

24.A.a B. the C.an D. X

25. A. types B. methods C. brands D. styles

26. A. development B. service C. increase D. employment

27. A. include B. make C. construct D. have



Vill. Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the

correct answer to each of the questions that follow.

The most fascinating change in societies in developing countries is undoubtedly the significant
rise in women’s participation in work and education. In these nations, an increasing number of women
are attending college, earning advanced degrees, and finding employment. They are no longer content
to be housewives who only stay at home. The socioeconomic situation in these countries will be

significantly impacted by this abrupt change.

The financial burden placed on the male 'breadwinners' in the family will decrease as more women
enter the workforce. However, they will also learn to share household duties and stop acting as the
household's dominant figures and decision-makers. Children will undoubtedly benefit from this change.
Their fathers will show them more love and attention. Because both parents will be working, they will

also become more independent.

As a result, the service industry will face challenges first. There will be an increase in demand for
after-school programs, tutoring, convenience foods, and housekeeping services. People who are more
educated and have more money to spend will demand better products and higher living standards.

Consequently, this will aid in the economic growth of the nations.

(Adapted from https://www.futurelearn.com/)

28. What can be the title of the passage?

A. The Changing Role of Women in Developing Countries


https://www.google.com/url?q=https://www.google.com/url?q%3Dhttp://www.fu%26amp;sa%3DD%26amp;source%3Deditors%26amp;ust%3D1745577870389643%26amp;usg%3DAOvVaw3GE4epi1F1Ffee_80ILm8N&sa=D&source=docs&ust=1745577870416336&usg=AOvVaw0wn9F5Zhk3Uf65xzo1B4VC

B. The Impact of Women's Work on the Family

C. Women's Education and Economic Growth

D. The Future of Women in Developed Countries

29. According to the passage, which of the following is the main effect of the rise of women's

participation in work and education in developing countries?

A. The financial burden on male breadwinners will decrease.

B. Women will learn to share household duties.

C. Children will receive more attention and become less independent.

D. The service industry will face countless challenges.

30. All of the following are true about the changing role of women in developing countries EXCEPT that

A. Fathers will share household responsibilities and decision-making, benefiting children.



B. Children will become more independent due to both parents working.

C. The service industry will face challenges due to increased demand for various services.

D. Women's changing roles have little impact on the socioeconomic situation.

31. The economic growth of the developing nations will be

A. decelerated by the changing roles of women

B. the same irrespective of the changing roles of women

C. aided by the changing roles of women

D. perplexed by the changing roles of women

32. What does the word "they" in paragraph | refer to?

A. nations B. women



C. work and education D. housewives

IX. Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is CLOSEST in

meaning to the original one.

33. Because of his injury, he had to withdraw from the upcoming sports competition.

A. Because he was injured, he had to withdraw from the upcoming sports competition.

B. As his injury was, he had to withdraw from the upcoming sports competition.

C. Since his injury, he had to withdraw from the upcoming sports competition.

D. Now that he was injured, he has to withdraw from the upcoming sports competition.

34. Daisy asked me: "Why do you have to do this work?"

A. Daisy asked me why | had to do that work.

B. Daisy asked me why | have to do this work.



C. Daisy asked me why do | have to do this work.

D. Daisy asked me why did | have to do that work.

35. You can improve your English pronunciation by talking to native English speakers.

A. Unless you improve your English pronunciation, you can talk to native English speakers.

B. If you talk to native English speakers, you can improve your English pronunciation.

C. Unless you talk to native English speakers, you can improve your English pronunciation.

D. If you improve your English pronunciation, you can talk to native English speakers.

36. Her living conditions were not good, but she studied very well.

A. She studied very well although her living conditions were not easy.

B. She studied very well just because she lived in difficult conditions.



C. Living in difficult conditions forced she to study very well.

D. Living in difficult conditions, she had no choice but to study well.

X. Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is BEST written from

the words/phrases given.

37. The skyscraper/ the city center/ much tall/ than/ the surrounding buildings.

A. The skyscraper in the city center is more taller than the surrounding buildings.

B. The skyscraper in the city center is much taller than the surrounding buildings.

C. The skyscraper at the city center are much taller than the surrounding buildings.

D. The skyscraper in the city center is as much taller as the surrounding buildings.

38. I/ wish/ I/ not/ have/ work/weekends/ and/ can/ enjoy/ leisure/ time.

A. 1 wish | didn't have to work on weekends and could enjoy more leisure time.



B. | wish | don’t have to work on weekends and can enjoy more leisure time.

C. I wish I hadn’t had to work on weekends and enjoyed more leisure time.

D. | wish | wouldn’t have to work in weekends and could enjoy more leisure time.

39. my mum/not use/ wear/uniform / when /school

A. My mum didn't use to wear uniform when she was at school.

B. My mum wasn't used to wear uniform when she was at school.

C. My mum didn't use to wearing uniform when she was at school.

D. My mum isn't used to wearing uniform when she was at school.

40. It / difficult / exercise / we / could I not / do / it.

A. It was so a difficult exercise that we couldn’t do it.



B. It was too a difficult exercise that we couldn’t do it.

C. It was such difficult exercise that we couldn’t do it.

D. It was such a difficult exercise that we couldn’t do it.



